
cod. K023B
Kawasaki Z900 ’17/’25 
brake side_lato freno

8,48 Nm*M5 TS
14,71 Nm*M6 TS
35,30 Nm*M8 TS
10,30 Nm*M6 TCEI - TB
25,50 Nm*M8 TCEI - TBPreserve the diagram instruction for further orders - Conservare queste istruzioni per eventuali futuri ordini di parti di ricambio - Rev. 2025/06/30 

BT_007
PP_013

CS_002

MO_002
BC_002

PU_001_BK

FN_002

PF_005

FN_001

M5x12 TS

M8x20 TCEI

M5x16 TS

M6x30 TS

PG_03

ø8mm

SP6_F5D13

M8x20 TCEI

M8x30 TCEI

PS_014T

AR_124

M8x30 TCEI

280mm tube

Turn the brake pump and change the tube on 
the original brake oil tank.
Ruotare la pompa freni e sostituire il tubo per la 
vaschetta olio freni originale.

PG00_BK

M8x45 TCEI
10.9

Use these parts to fix the OEM brake tubes.
Utilizzare queste parti per fissare i tubi freno originali.SP14_F6D13

Model with ABS:

SP12_F8D20

SP12_F8D20

SP6_F5D13

Installation video
https://youtu.be/ELpL6gNyB2s



8,48 Nm*M5 TS
14,71 Nm*M6 TS
35,30 Nm*M8 TS
10,30 Nm*M6 TCEI - TB
25,50 Nm*M8 TCEI - TB

cod. K023B
Kawasaki Z900 ’17/’25 
gear side_lato cambio

R021_160

RH01_DX

BC_001

LC_007
PU_001_BK

BT_008

PS_015T

M6x30 TS

SC_002

SP5_F6D13

CS_001

M6x25 TB

M6 AUT

M6 SX

M6 DX

M5x8 TS

M6x30 TS

M6x30 TCEI

M8x30 TCEI

M8x25 TCEI

PG_04

M6 AUT

RH01_SX

SP8_F6D12

AR_123 SP12_F8D20

PG00_BK
M8x30 TCEI

10.9

M8x30 TCEI

SP12_F8D20

AC01_SX

R021_20SX

X
add here these parts 

for high positions

M6 SX

M6 SX

Installation video
https://youtu.be/ELpL6gNyB2s

R021_77

use this part with 
OEM Quickshifter

Preserve the diagram instruction for further orders - Conservare queste istruzioni per eventuali futuri ordini di parti di ricambio - Rev. 2025/06/30 


	K023B_DX
	K023B_SX

